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Town plan. & Arch.

Full Marks : 80

Pass Marks : 26

Answer all Five questions from Group B, each question 

carries 4  marks.
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Old Syllabus
OR

Describe the satellite development of  towns around
parent city with neat sketch. Mention its features 
also.

data survey? Describe.

determination of various room sizes.

OR

8.

9.

8

8

8
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        

OT6011OT6011

Town planning is an art as well as:

(a) Science too

(b) Commerce too

(c) Computer too

(d) None of the above

One of the essential object of town planning is:

(a) To increase crop production

(b) To make available the seed

(c) To Produce healthy environment 

(d) All of the above 

OR

What do you mean by orientation of Building?

Explain its aim.

Answer all Five Questions. 

Describe forms of planning in detail. 7.

8 x 5 = 40

8
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(iii)

(iii)

(iv)

(ii)

In a town, the land is costly the horizontal 

growth of that town will prove to be:

(a) Economical

(b) Uneconomical 

(c) Affordable 

(d) None of the above

Satellite town is not a:

(a)  Village

(b)  Group of village

(c)  Suburb

(d)  All of the above

6.

OT6011 OT6011

Enumerate the importance of zoning.

type of balance with neat sketches.

 

5.
4

4
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(v)

(v)

(vi)

(iv)

4.

OT6011OT6011

Metropolis indicate the town serving as:

(a) Division headquarter 

(b) District head quarter

(c) Capital of state

(d) All of the above

Social survey includes collection of data of:

(a)  Roads

(b)  Railways

(c)  Airpots

(d)  Types of public building

Define Architecture and explain its aim.

subjects of surveys. 

3.

4                     

4                     
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(vii)

(vii)

(viii)

(vi)

Answer all Five Questions. 

2.

4

4 x 5 = 20

(xx)

OT6011 OT6011

The agency of construction of housing is:

(a) Individual

(b) Co-operative society

(c) Government

(d) All of the above

Net population density map showing  density

of population:

(a)  Per meter

(b)  Per kilometer

(c)  Per hectare

(d)  Per mile

What is the principle of town planning? Explain.



61115605C 15605C

Which of the following scale is largest.

(a) 1cm = 50m

(b) 1cm = 50 km

(c)  1:42000

(d) 1:300000

Orientation of building means to place 

building in a such a way to get:

(a) Minimum advantages from nature

(b) Medium advantages from nature

(c) Maximum advantages from nature

(d) None of the above

(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)

OT6011OT6011

The housing should be located :

(a) Near the park

(b) Near the school

(c) Near the playgound

(d) All of the above

The demand for play ground in present time

has greatly:

(a)  Vanished

(b)  Decreased

(c) Increased

(d)  None of above

n
n-1
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(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)

OT6011 OT6011

Slum is a residential area of a town where
people are living:
(a) Under standard condition
(b) Under healthy environment
(c) Under substandard condition and 
     unhealthy environment.
(d) None of above

The lung of a town is :
(a)  Park
(b)  Garden
(c) Green open space
(d)  All of the above

In the case of good indirect light for bedroom

the suitable plant is:

(a) Palm

(b) Alpinis

(c) Sellaginella

(d) All of the above

‘n’ division of Retrograble vernier coincides: 

(a)  (n-1) division of main scale

(b)  (n+1) division of main scale

(c) n division of main scale

(d)      division of main scalen
n-1



8915605C 15605C

(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)

OT6011OT6011

Architecture is: 

(a) An art

(b) A science

(c) Emotional 

(d) All of the above

Study of trees, plants, shrubs is the part of:

(a)  Engineer

(b)  Doctor

(c) Landscape architect

(d)  None of these

The violet colour has:

(a) Minimum wavelength

(b) Medium wavelength

(c) Maximum wavelength

(d) None of the above 

 A point has :

(a)  Dimension

(b)  Magnitude

(c) No dimension

(d)  None of the above 



1715605C OT6011

OR

Write short notes on the following compostion of 

 architecture.

(a) Character

(b) Proportion

of a commercial building in details.

(a) Sun shading

(b) Colours

OR

10.

1715605C OT6011

OR

Write short notes on the following compostion of 

a architecture.

(a) Character

(b) Proportion

of a commercial building in details.

(a) Sun shading

(b) Colours

OR

10.
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while designing a town road? How the urban roads

are classified?

Discuss different grouping of public building.

8

OR

***

18 15605COT6011

while designing a town road? How the urban roads

are classified?

Discuss different grouping of public building.

8

OR

***
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